129

Low Profile Rack Guards

Protect pallet racking and wall corners against damage from fork trucks, pallet trucks,
and carts with Low Profile Rack Guards. All components are laser cut. Quick and easy
two-hole installation. Installs in half the time of other guards. Safety yellow powder coat
finish. Steel construction. Mounting kit sold separately.

MODEL OVERALL USABLE OPENING OVERALL BASE NET WT. .1‘“‘
NUMBER HEIGHT (WxD) (WxD) (POUNDS) 4
NPG4-12¢ 12" 4" x 1" 8" x 3" 6 ,@- .
NPG4-18« 18" 44" x 1" 8"x 3" 9 LOW PROFILE RACK GUARDS -, j
NPG4-24¢ 24" 4" x 1" 8"x 3" 12 series NPG
NPG4-36¢ 36" 414" x 1" 8" x 3" 18 48 Hours i rowes
NPG6-12¢ 12" 6v4" x 1" 10" x 3" 8 g_o Ship TOUGH
NPG6-18% 18" 6%4" x 1" 10" x 3" 1
NPG6-24< 24" 6%4" x 1" 10" x 3" 14 5 /
NPG6-36© 36" 64" x 1" 10" x 3" 20 < New 4
NPG-ABK® CONCRETE ANCHOR BOLTS (2) 3/4" x 4" 2 _/*'§

Structural Cast Rack Guards

Economical way to protect against damage to pallet racking and wall corners.
Constructed of 6" cast steel for durability. Available with or without a rubber bumper.
Easy to install to concrete surface. Four mounting holes for maximum stability. Safety
yellow powder coat finish. Installation hardware sold separately.

STRUCTURAL CAST RACK GUARDS

MODEL OVERALL USABLE OPENING OVERALL BASE NET WT.
NUMBER HEIGHT (WxD) (WxD) (POUNDS)

Gé-12¢ 12" 4-1/2" x 4" 7-5/8" x 6" 10 CASTRACK GUARDS

G6-18v 18" 4-1/2" x 4" 7-5/8" x 6" 16

G6-240 24" 4-1/2" x 4" 7-5/8" x 6" 22 P— 48 Hours

G6-360 36" 4-1/2" x 4" 7-5/8" x 6" 28 Coaten ,_O Ship

G8-120 12" 6-1/2" x 4" 9-5/8" X 6" 16

G8-18v 18" 6-1/2" x 4" 9-5/8" x 6" 21

G8-24o 24" 6-1/2" x 4" 9-5/8" x 6" 30

G8-360 36" 6-1/2" x 4" 9-5/8" X 6" 38

G6-12-B 12" 4-1/2" x 4" 7-5/8" x 6" 17

G6-18-B 18" 4-1/2" x 4" 7-5/8" x 6" 25

G6-24-B 24" 4-1/2" x 4" 7-5/8" x 6" 34

G6-36-B 36" 4-1/2" x 4" 7-5/8" x 6" 46

G8-12-B 12" 6-1/2" x 4" 9-5/8" x 6" 28

G8-18-B 18" 6-1/2" x 4" 9-5/8" x 6" 38

G8-24-B 24" 6-1/2" x 4" 9-5/8" x 6" 51 CAST RACK GUARDS

G8-36-B 36" 6-1/2" x 4" 9-5/8" x 6" 71 WITH RUBBER BUMPERS

G-ABK« CONCRETE ANCHOR BOLTS (4) 3/4" x 4" 4 suffix B

Corner Guards

48 Hours ~ Wrowner
Protect busy corners, expensive machinery and personnel with 90° perpendicular to Ship TOUGH
protection. "SAFETY FIRST" promotion reminds personnel of the number one priority.

Steel units include powder coat safety yellow finish. Aluminum unit is unfinished.

MODEL OVERALL OVERALL SIDE NET WT.
NUMBER HEIGHT LENGTH HEIGHT MATERIAL (POUNDS)
PCG-16© 16" 16" 8" STEEL 30
PCG-240 24 24 12 STEEL 35
PCG-24-A 24" 24" 12 ALUMINUM 18
PCG-ABK® CONCRETE ANCHOR BOLTS (3) 3/4" x 4" 2
Rack Shield

Easy one-step installation, this Rack Shield eliminates painting and prevents damage to
your vertical supports. Made of extruded high-density polyethylene thermoplastic.

MODEL OVERALL USABLE SIZE HDWR. KITS NET WT.
NUMBER HEIGHT (WxD) REQUIRED COLOR (LBS.)
VPRP-YL-09 9" 3"x2" 1 YELLOW 174
VPRP-YL-12 12" 3"x2" 2 YELLOW 2
VPRP-YL-18 18" 3"x2" 2 YELLOW 3%
VPRP-HDWR HARDWARE KIT (1) 3/8" x 3" BOLTS 1
AVAILABLE IN GRAY AND BLACK, CONTACT FACTORY

S4d3144v4 JAILII104Hd



